N = 0l & At & Ml A

R s R SE=an);
g MsdE 2435
g MsdsE 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
H=sd s 20,321,697 17,023,411 3,298,286
Xl 1,026,000
J| 393,660
< 414,073
Al 18,487,964
Hsds 243 5,813,358 6,050,546 A 237,188
J| 393,660
< 364,073
Al 5,055,625
Hsds 4 XA 3,290,684 3,022,402 268,282
< 87,890
Al 3,202,794
HsdEssd 28 23X 15,880 14,880 1,000
201 2Bt | 2,880 2,880 0
01 At 22/l 2,880 2,880 0
o2d+g 2,880
O=AZHSUa RARAE2 ML S 2,880
203 YR =&t 3,000 2,000 1,000
03 Al Z=A Y 2= 3,000 2,000 1,000
oA M EE2 L 9 3,000
307 gl2tol & 10,000 10,000 0
02 It HAHEE 10,000 10,000 0
OMSHA XNFAJS 29 10,000
AF2SEINR & MEHME dINEX 22 1,289,722 1,214,722 75,000
301 LerEa = 1,289,722 1,214,722 75,000
Vo=t - 2SRES24=3 1,247,926 1,214,722 33,204
oSN (HNE2sZIIR) 743,976
0= 3,500,000& «3H 123 126,000
@ L= 2,861,000& x18H +12& 617,976
O (AE2sZIR)
200,000& x21H x 123 50,400
ozAHI(AE2=sEIIR) 250,000+3H x12& 9,000
OLEH (HE2=sEIIR)
100,000& »21H 128 25,200
OXNER=L(AE2SEIR)
200,000& «3H x12& 7,200
OMaEcEb (RNE2SEIR)
100,000& x21H 128 25,200
G F R =y 80,000 *21H x12& 20,160
OXNF2SHIIR Hd== AJt2HI 100,000
OX&AZ(HE2=EIR) 1,350,000& x403] 54,000
OEHES(MNE2sZIR)
300,000& 21 *23| 12,600
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2N
X ZH -
L= B

el

H=dsh
HEXNE 43
H=dg 54 X2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 130,000 130,000 0
02 ItE M AMHEE 130,000 130,000 0
OENH2 =221 22 130,000
kel 27 MEBEE 50,000 30,000 20,000
201 Let2d] 50,000 30,000 20,000
01 At 22l 50,000 30,000 20,000
OKeld 2387 AEEER 50,000
Hs2d R2X Ald 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 IZtE S AHE L 20,000 20,000 0
ONMSZLE RS A& 20,000
FAE E2wA K& 39,800 39,800 0
= 27,890
Al 11,910
307 glz2tol & 39,800 39,800 0
< 27,890
Al 11,910
02 M AHE X 39,800 39,800 0
OfAdE SFus X 39,800
0=adE =204 29 16,800
< 4,890
Al 11,910
0= LdE =I2U3 17,000
< 17,000
O SR NEA = 6,000
< 6,000
JtEEHH 2E XA 102,600 100,800 1,800
307 21201 A 102,600 100,800 1,800
02 IZtE S AIHE L 102,600 100,800 1,800
OJYEHH 2 XA 102,600
It A2t AL 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 It M AMHEE 20,000 20,000 0
OJtUHH AL Y 20,000
HsHHd S 230s X 50,000 60,000 A 10,000
307 glz2+ol & 50,000 60,000 A 10,000
02 HAFHAANGEEX 50,000 60,000 A 10,000
OXM=HHd S 23Uz XA 50,000
dFAUEIE X 60,000 50,000 10,000
307 21201 A 60,000 50,000 10,000

- 184 -




SN HEUED
g MsdE 2435
ool MSTE 84 N CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 YAFLAANFEE 60,000 50,000 10,000
OEFAYU=ZE X3 60,000
dFASEHMSE 29 ML 20,000 22,000 A 2,000
402 RI2tXt20l ™ 20,000 22,000 A 2,000
01 A TtEAEEX 20,000 22,000 A 2,000
O&EF=A SEHM=E3 29 Hd 20,000, 000 20,000
M=z 29 XN& 1,222,500 1,478,000 A 255,500
< 12,000
Al 1,210,500
O M=0z X2 33,000 33,000 0
301 LAz 10,000 10,000 0
1MIIEELES 10,000 10,000 0
Od= FUe M=Uz &=A 10,000
307 glz2+ol & 23,000 23,000 0
02 It M AHEE 23,000 23,000 0
OXHe M=Uzg 23,000
QXNet=ET HOHR MSHS 14,000, 000 14,000
OKU=ST =02 MU 6,000,000 6,000
@Xet=: XXMEBOC HM=OHal 3,000,000 3,000
d=FLeletelttetE e 100,000 200,000 100,000
307 2201 A 100,000 200,000 100,000
04 DIZHHALALSE E X 100,000 200,000 A 100,000
©2015 dFEEQUNIAUEWUZ 100,000
Hsgm 8=2+=3Uzal 70,000 70,000 0
307 g1zl & 70,000 70,000 0
04 DI2HHALALSE E X 70,000 70,000 0
OHM34sl HSEH =S U3 70,000
FHMSAZRHAI HAZSHAZSUE 70,000 70,000 0
307 glz2+ol & 70,000 70,000 0
04 QIZFHALAIH B = 70,000 70,000 0
OHNl443 22 2E2I] d=sTAAM0IZ2
Chal 70,000
S AN S 30,000 60,000 A 30,000
307 i+l & 30,000 60,000 A 30,000
04 QIZFHALAIH E &= 30,000 60,000 A 30,000
OHM9sl MIARALF=AS 30,000
H=Al SH=20tSH ¥=2 & - 4 iR 40,000 60,000 220,000
307 21201 A 40,000 60,000 220,000
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SA: HSA
HH: MSE B
ool MSME 29

SA BB O () - MM - HES 0l &+ o4 il
04 DIZFSHAIAIRI 2 = 40,000 60,000
OHd=FAl 8t=20tSHH 8=2EUH U3 40,000
H=AIZH BP0 6,000 6,000
307 glz2tol & 6,000 6,000
04 DI2FSHALAIE 2 X 6,000 6,000
OHM4a d=AEH Z2U3 6,000
HFAIEE 2024 UE 4,000 4,000
307 2Iztol ™ 4,000 4,000
04 DIZIHALAIHE E X 4,000 4,000
OHM123 MFAIEH H=2AU3 4,000
HE=ANEH =2 2ESSAERUHS 10,000 10,000
307 @12+0| & 10,000 10,000
04 BIZHBAAI I E = 10,000 10,000
OHM22s MFAEH M3ESSAEFAUE 10,000
AN RSN EH0RUS 5,000 5,000
307 glz2+ol & 5,000 5,000
04 DI2FHALAISE 2 X 5,000 5,000
OM7sl dFAEI| +=TSWZH0OFAUE 5,000
HFAIEE SEHUEHAUS 12,500 12,500
307 gi2tol & 12,500 12,500
04 DIZtHALAIHE E X 12,500 12,500
OM193 HF=AIEHH SHUHEHR2US 12,500
HFAIEE d=2HE0E 20,000 20,000
307 2Iztol ™ 20,000 20,000
04 DIZEHALAIH E X 20,000 20,000
OM14s] MFAIEH d2BEUS 20,000
HFAED gH=EUHE 5,000 5,000
307 2Iztol A 5,000 5,000
04 DI2FHALAISE E X 5,000 5,000
OHM223l MF=AIEI H=EUS 5,000
A MIHEEHS U3 30,000 30,000
307 glz2+ol & 30,000 30,000
04 DI2FSHALAIE 2 = 30,000 30,000
OM172l d=AEI| d=2dHdS U3 30,000
d=AIEEE OtAEHZE=S U3 6,000 6,000
307 Qiz2tol & 6,000 6,000
04 DIZtHALAIHE E X 6,000 6,000
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2H: MSAEY
M Neds 2435
@2 dA=x0s 29 N (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OM11a A=A =2U 3 6,000
HFAIEH SE=U3 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QIZISHALAIE B2 X 5,000 5,000 0
OM198 EE=AIZEHB SE=UHE 5,000
HFAEI =SS FF2UHI 5,000 5,000 0
307 QI2t0l ™ 5,000 5,000 0
04 DIZFSHAIAIRI 2 = 5,000 5,000 0
OM193 MF=AIHI =ESWERUSI 5,000
HF=AEI S2UF 7,000 7,000 0
307 212t0| & 7,000 7,000 0
04 DIZFSHAIAIRI 2 = 7,000 7,000 0
OHM233 EF=AIZI =203 7,000
HFEAIEH HAESHUHE S2US 15,000 20,000 A5,000
307 QI2t01 ™ 15,000 20,000 A5,000
04 QI2SHALAIE E = 15,000 20,000 5,000
©2015 & FAIEH 2AEHZEHUHE =203 15,000
HdF=AEH S&8=s7U3 9,000 5,000 4,000
307 QI2t0| ™ 9,000 5,000 4,000
04 QI2tSHALAIE E &= 9,000 5,000 4,000
OHM133 MFAIEH S& 72U 9,000
MFAEH HILIALSE 4,000 4,000 0
307 212t0| & 4,000 4,000 0
04 QIZHSHAFAIRHE 2 X 4,000 4,000 0
OM223 &=A&b6H HUANS 4,000
HFAED BHAEEUF 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OM18a ®Z=AIEI| EHA =S 5,000
MF=AIED| BHECIE U3 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0]
04 QI2FSHALAIE B = 5,000 5,000 0
OHMI53 ®Z=AIEH BHESUSHT 5,000
ST AIEH 2AUSE 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
04 DIZHSHAFAIRE 2 X 4,000 4,000 0
OHM13a &F=AIZH YAU3 4,000
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2A4: MEIEDL
M gdE 243
G A=z &9 JH (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
MF=AIEH A20I0IHISSHXHEE L AlI2IHISSAH 24,500 10,000 14,500
307 2iz2to| & 24,500 10,000 14,500
04 QIZ2tSHAFALS B X 24,500 10,000 14,500
OM103 MFAIEU EZ20I0IHISSHHUHES ALY
Al QITHIS S K 24,500
HFAIED| SAL T 3,000 0 3,000
307 2Iz2t0| & 3,000 0 3,000
04 SIZ2HSHAAIH E & 3,000 0 3,000
©2015 dF=AIED| SH&HUHE 3,000
HFAIZE MEXE AHAUSE 12,500 12,500 0
307 2iz2to| A 12,500 12,500 0
04 QIZ2tSHALALS B X 12,500 12,500 0
OHM93l HZ=AIEHI MEMSAHAUS 12,500
HFEASH MEHSHSZASOIEUS 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 CIZ2tSHAPALS B X 5,000 5,000 0
OHM113 MFAIEH MEMNSHESZASOE
3| 5,000
HN=AIEH MEHSE 85 S4EI|03 5,000 5,000 0
307 gizto| A 5,000 5,000 0
04 CIZ2tSHALALS B = 5,000 5,000 0
OM11g dFAIEH MEHNSE MU= =Y
JICH 3l 5,000
HFAIZE MEXYSHECIES S 10,000 10,000 0
307 2iz2to| A 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
OM253] MFAIEH MEMSHHECEUHS 10,000
HFAIZE MEXNSHIZE ARSI 4,000 4,000 0
307 gizto| A 4,000 4,000 0
04 CIZ2tSHALALS B X 4,000 4,000 0
OHM163 MFAIEH MESHMSEIHAUS 4,000
HFEAIEH MEMSE 3= 32U 10,000 10,000 0
307 QI2t0| & 10,000 10,000 0
04 CIZ2tSH ALALS B X 10,000 10,000 0
OHM173 MFAIEH MEMNs d=2 20U 10,000
MF=AEH MEHSI=2ZEHZSIAUF 13,000 13,000 0
307 2Iz2t0| & 13,000 13,000 0
04 SIZ2HSHAAISH E & 13,000 13,000 0
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R s R SE=an);
M MEdE #4358
2 M 29 X
SA - ZE-B(EA) - NRAY - B S il &t o il
OM128 Hd=AIZH MEHSIIZIES2US 13,000
H=AZH MEXHSAILS 20,000 20,000
307 21201 A 20,000 20,000
04 QIZFHALAIH B & 20,000 20,000
OM113 MFAIEU MEMSAIIUS 20,000
HFAEH HEBHSEISINER=UHSE 7,000 7,000
307 21201 A 7,000 7,000
04 DIZHHALALSE E X 7,000 7,000
OM14s] MFAIEH MEMSIIZINE=R=U
3| 7,000
HF=AZTH dEXHSHIUHSSHUHEsT2UHS 11,000 11,000
307 21201 A 11,000 11,000
04 DIZHHALALSE E X 11,000 11,000
OHM128 EFAIZH HENSE=UHSSSUHS
sTHa 11,000
H=AZTH EHSA=SXNAIANUS 5,000 5,000
307 21201 A 5,000 5,000
04 QIZFHALAIH B = 5,000 5,000
OHM4zl HF=AEH dHSHE=SUHEAU= 5,000
HFAEH HdBHSECLIUE 12,000 12,000
307 21201 A 12,000 12,000
04 DIZHHALALSE E X 12,000 12,000
OXNB8sl MFAIZH MEHMSECLIHS 12,000
AFAEI d2HSHESAN0E=UHS 5,000 5,000
307 glz2tol & 5,000 5,000
04 DIZHHALALSE E X 5,000 5,000
OHM20& EFAIEI| MEHISH2AUANOEEN
3 5,000
HFAZH dEHEd=L2UHE 4,000 4,000
307 21201 A 4,000 4,000
04 DIZHHALALSE E X 4,000 4,000
OM138l EFAIZH HEHSE=HL2UHE 4,000
HFAIEH feloter MEMEZZ AU 16,000 16,000
307 glz2tol & 16,000 16,000
04 QIZFHALALH 2 = 16,000 16,000
OM193] MFAIZH MEMZZAUE 16,000
H=AZH MEHSAISSAANOEHS 12,000 12,000
307 glz2+ol & 12,000 12,000
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M HSTED
M gdE 243
gelr stz 249 X
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
04 QIZFHALAIH E = 12,000 12,000
OHM1al HEFAITH HEMSE=ZSSUAHO0I
g3l 12,000
H=AZH MEMSHAZSH0IL WS 7,000 7,000
307 g2+l & 7,000 7,000
04 DIZHHALALSE E X 7,000 7,000
OHM128] 8=AIZH MEHMSEIIA=2H0IZ
thal 7,000
SF=AETH dEH=S=T03 7,000 7,000
307 gl2tol & 7,000 7,000
04 DIZHHALALH 2 £ 7,000 7,000
OHNBal M=AIZH MEM=ESSZS 7,000
HF=AEI| MEHSHYHE=ZEHS 7,000 7,000
307 g1+l & 7,000 7,000
04 QIZFHALAIH E = 7,000 7,000
OHM28al 8=AIEI| MEHSNMAHEIZEN
3 7,000
HFAIEH HEHMESISII13UHE 4,000 4,000
307 12+l & 4,000 4,000
04 DI2HHALAISE E X 4,000 4,000
OM33 MFATH HEBHEISIISUHE 4,000
H=AZH MEXMSHAUSHUHSZAUS 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH B = 5,000 5,000
©2015 &==AIZH MEHSFLAESHUHS T
Chal 5,000
SFAEI dEHSES0l=HLIAHE 6,000 6,000
307 glz2tol & 6,000 6,000
04 QIZFHALAIH E = 6,000 6,000
11108 HFAIEI| HEHMSAS0l=HLI AN
3 6,000
SF=ATH MEHSAAAIHUSE 5,000 5,000
307 gl2tol & 5,000 5,000
04 DIZHHALALSE E X 5,000 5,000
OHM23 MFATH HEBHISAZAZHUE 5,000
HFAIEH MEHMSUHISZUS 4,000 4,000
307 glz2+ol & 4,000 4,000
04 QIZFHALAIH E = 4,000 4,000
OHM23 MFATH HdEBHSUHI=ZUE 4,000
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2A4: MEIEDL
M gdE 243
G A=z &9 JH (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
HEd MEH=UHE &4 5,000 5,000 0
307 2iz2to| & 5,000 5,000 0
02 QIZ2IA AAIE E X 5,000 5,000 0]
O o2 MEHNsUs =H 5,000
dUEXF =20l M=ZUESCE U3 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
02 AI2tAAMAIE E =X 30,000 30,000 0
OMN73 dEXF St=0l2 M=2HIES2NE U3 30,000
HZ=Al 1(OHO)-2l0 &3 26,000 26,000 0]
307 2I2t0| ™ 26,000 26,000 0
02 QI2tAMAIE E X 26,000 26,000 0
OM33 HFAEEH & Z2CIMEHES HFAl I(
otol)-21 =323 26,000
M= Dot DT =E=2H BHEQE 3 100,000 100,000 0
307 QI2t0| ™ 100,000 100,000 0
04 CIZ2tSHAPALS B X 100,000 100,000 0
©2015 &z 220 OHZ2SE=2H HHESE
CH &l 100,000
SSHALL2AA)| 2 UMENE A=2A - SO E 40,000 0 40,000
=23
307 212t0| & 40,000 0 40,000
04 SIZ2ISHAAISHE E & 40,000 0 40,000
OHM193 SStHsAZL2H2)| 2 UMEHY=
M=zANEUHSE=LU S 40,000
Visit Korea =X 2L=4 g 3,000 0 3,000
307 QI2t0| ™ 3,000 0 3,000
04 CIZ2tSHALALS B X 3,000 0 3,000
OVisit Korea 2 HZ =243 3,000
SHSUALR2E2N FUMEH S d=225UF 10,000 0 10,000
307 2I2t0| & 10,000 0 10,000
04 SIZ2HSHAAISHE E & 10,000 0 10,000
OHN63 ZSSHMSALIH2H 2UAMEH=E N
=22AU3I 10,000
N=2sY &2 A=A U3 70,000 0 70,000
307 212t0| ™ 70,000 0 70,000
04 SIZ2HSHAMAISHE E X 70,000 0 70,000
OMN6lg M=Z2ESEERAHASAUT 70,000
NF=E2HEHAZUS 90,000 0 90,000
307 2iz2to| A 90,000 0 90,000
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R s R SE=an);
g MsdE 2435
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZFHALAIH E = 90,000 0 90,000
OEF=2EZ =HNEHAEZUS 90,000
S8 =8 8= FEU3 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIR B = 20,000 0 20,000
OR+=EB=x=&E d=2REU3 20,000
SFAZH MEXHS d=SHUHAMSHE 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OHM23 MFAZH H&Hs ISTHAMSH
3 5,000
DAY E =403 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFSHALAIR B = 3,000 0 3,000
OXFAZH MEMT =&4AIU3 3,000
dFAEH MEHMS dct2EsZHE 3,000 0 3,000
307 glz2tol & 3,000 0 3,000
04 DI2HHALALSE E X 3,000 0 3,000
OM1E MFAZH H&H| DA2==Z 0 3,000
HFAZH MEHS dI2A=24UH3 3,000 0 3,000
307 izl & 3,000 0 3,000
04 QIZFHALAIH E = 3,000 0 3,000
OM12 HFAIEH HEHS IS UH 3,000
HFAEH MBS HAWS 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIH B = 3,000 0 3,000
OM1sl MFAIZH MEHMS HSAUE 3,000
d=zHAHNSUH2 AEESH HI| 32,000 0 32,000
< 12,000
Al 20,000
307 gl2tol & 32,000 0 32,000
< 12,000
Al 20,000
04 DIZHHALALSE E X 32,000 0 32,000
OHMN%s d=SHMSUHE A2EEH FI| 32,000
< 12,000
Al 20,000
MEHs 243 N 1,300,174 1,550, 144 A 249,970
J| 393,660
< 264,183
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2M: s

g ﬂlu&% 243t
ool dads 243 N2 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS

Al 642,331

MEHSRY 29 158,300 158,300 0
= 47,490
Al 110,810

307 glz2tol & 158,300 158,300 0
=) 47,490
Al 110,810

02 IZtE M AHEE 158,300 158,300 0
odegsud 29 158,300
< 47,490
Al 110,810

MEBHS NS X 194,304 194,304 0
J| 97,152
Al 97,152

307 glztol & 194,304 194,304 0
J| 97,152
Al 97,152

02 AHFHAEEE 194,304 194,304 0
oMEx= XNZ A BHXI 194,304
J| 97,152
Al 97,152

oza M=sg2s XN 121,440 121,440 0
J| 60,720
Al 60,720

307 21201 & 121,440 121,440 0
J| 60,720
Al 60,720

02 HHFHANGEEX 121,440 121,440 0
onza HMsas X 121,440
J| 60,720
Al 60,720

MEHE S35 =221 29 128,400 128,400 0
= 38,600
Al 89,800

307 glztol & 128,400 128,400 0
) 38,600
Al 89,800

02 It HAMNAEE 128,400 128,400 0
OMENSE S50 L2 2 128,400
& 38,600
Al 89,800

days 2HNE 23 272,290 224,100 48,190
< 71,637
Al 200,653

307 21201 A 272,290 224,100 48,190
< 71,637

- 194 -




R s R SE=an);
g MsdE 2435
Sl MBHS LS AW CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 200,653
02 QB LA EX 272,290 224,100 48,190
odaiN=s 2FNE 24 272,290
S 71,637
Al 200,653
MEHYET 2 RAE= 7,000 7,000 0
201 Let24d] 7,000 7,000 0
02 =24l 7,000 7,000 0
oOMEN=x Z2ERA == 7,000
SOtEd e ALY 21,600 36,000 A 14,400
< 15,930
Al 5,670
301 et d = 21,600 36,000 A 14,400
= 15,930
Al 5,670
01 MEIE2EZE+06l= 21,600 36,000 A 14,400
Ostds0L 43t ALY 21,600
< 15,930
Al 5,670
A2 0IEA ALY 336,840 327,600 9,240
J| 235,788
< 50,526
Al 50,526
301 et A= 336,840 327,600 9,240
J| 235,788
< 50,526
Al 50,526
01 AR 2& A5l 3 336,840 327,600 9,240
OAZ=2E 0l EA A 336,840
J| 235,788
< 50,526
Al 50,526
hstolzet 22 MEMsZzI8 23 30,000 0 30,000
< 10,000
Al 20,000
307 glz2tol & 30,000 0 30,000
< 10,000
Al 20,000
02 It HAHEE 30,000 0 30,000
otistolzmet #8 MEisEz Y 23 30,000
< 10,000
Al 20,000
HFUHIEU MSANE SSE(AHE) NES 30,000 0 30,000
< 30,000
308 XXM SOIA 30,000 0 30,000
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2N HSTE
Y HSIE BY
ool MBS

SA - BB BRI (3) - MSAY - B Ol &+ o4 SSa HmEET
< 30,000
08 mFJl20UstE=x 30,000 0 30,000
OFEF=HIEU HESAE 2= 2 30,000
S 30,000
s 243 6,600,000 3,476,000 3,124,000
Xl 1,026,000
< 50,000
Al 5,524,000
ANE2e3e HsAE X3 950,000 95,000 855,000
LN 4250 P2 150,000 0 150,000
405 TtobF S| 150,000 0 150,000
01 AL EFH S 150,000 0 150,000
ogaIIE d=E5l * 150,000
FAESES dELEXY 800,000 0 800,000
401 AIEHI L 2CHEI 800,000 0 800,000
01 A& Hl 798,000 0 798,000
ORaAdEx ¥ERE X4 798,000
03 A& S THHI 2,000 0 2,000
ORAEET HBRE X4 2,000
HM=XsAMd XA 5,650,000 3,379,000 2,271,000
Xl 1,026,000
= 50,000
Al 4,574,000
MsAd 21228 1,050,000 1,400,000 A 350,000
Xl 300,000
Al 750,000
401 AIEHI L 20HYI 1,050,000 1,400,000 A 350,000
Xl 300,000
Al 750,000
01 A& HI 1,047,000 1,396,000 A 349,000
OMsAE 2cl2dd 1,047,000
Xl 299,000
Al 748,000
03 AlE S THHI 3,000 4,000 A 1,000
OMsAE cI2gd 3,000
Xl 1,000
Al 2,000
SUXsAE =24 1,000,000 1,220,000 A220,000
Xl 300,000
Al 700,000
401 AIEHI L 20 1,000,000 1,220,000 A 220,000
Xl 300,000
Al 700,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 997,000 1,217,000 A 220,000
OsUNM=ANExH 997,000
Xl 299,000
Al 698,000
03 Al 20 HI 3,000 3,000 0
OSUHMSALEXS 3,000
Xl 1,000
Al 2,000
I0XNsHEH A A 1,100,000 0 1,100,000
401 A& HIZ 201 Y] 1,100,000 0 1,100,000
01 Al 1,097,000 0 1,097,000
ON=FAl ZUM=ESHH HE 1,097,000
03 Al 20 HI 3,000 0 3,000
O&E=Al 2CHSHH A 3,000
HE=LH 4 1,480,000 0 1,480,000
X 135,000
Al 1,345,000
401 Al HIZ 201 Y| 1,480,000 0 1,480,000
X 135,000
Al 1,345,000
01 A& HI 1,477,000 0 1,477,000
oMBEIE X4 1,477,000
Xl 134,000
Al 1,343,000
03 AlZ S THHI 3,000 0 3,000
oMa=zz x4 3,000
Xl 1,000
Al 2,000
0 ESEE HIJEAIA 970,000 0 970,000
Xl 291,000
Al 679,000
401 Al HI R 2018 970,000 0 970,000
Xl 291,000
Al 679,000
01 A& HI 967,000 0 967,000
OFZOME E=2E & HIIEAIL 967,000
Xl 290,000
Al 677,000
03 A& =2 THHI 3,000 0 3,000
OFMe E=E & HIJEAIE 3,000
X 1,000
Al 2,000
SAMEISE ZAAIND & 50,000 0 50,000
< 50,000
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22 MSUEANE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 50,000 0 50,000
< 50,000
01 A& HI 50,000 0 50,000
OEHINEZd ZAXAC & 50,000
< 50,000
HE2IAZH(MSEEDY) 48,180 39,988 8,192
Jl23dl(MsdsE) 48,180 39,988 8,192
gyl (M) 48,180 39,988 8,192
201 L2l 23,340 19,828 3,512
01 At 2t 2l 18,340 14,828 3,512
OgBt+=&H| 10,108
O= &l 8,232
02 =224l 5,000 5,000 0
OXte - &EHhI 5,000
202 44l 21,840 17,160 4,680
01 = LH A HI 21,840 17,160 4,680
OJIlegdRF=8 21,840
203 YR =&l 3,000 3,000 0
04 FN2ELRZ=TH 3,000 3,000 0
ORNM2IYRFL 250,000& 128 3,000
HRES(HMSAL2E Ald22ISTE) 7,860,159 7,456,877 403,282
HEHAHXES(MESAIES2E A3 A) 7,860,159 7,456,877 403,282
HESAL2HE A2 3E dE2 7,860,159 7,456,877 403,282
309 MEZ 7,229,859 6,819,977 409,882
01 SAL- SHINTEES 7,229,859 6,819,977 409,882
OMsSAL2H 2L 7,229,859
404 SASHIHEEES 630,300 636,900 A 6,600
01 SAt- SEHIUSEES 630,300 636,900 A 6,600
OMSAEZ2HE ANEXA 630,300
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